THTEEETHE DT IERERR

T (138) BLDtiE

REIEH k=7 ==Xy} NO. 1 NO. 2 NO. 3 NO. 4

R1.11.8 R1.11.8 R1.11.8 R1.11.8
AR L Cd |mg/kefz =B <0.5 <0.5 <0.5 <0.5
T ALEY CN  |mg/kgfz =B <1 <1 <1 4
BERBIEEY 0-P |mg/kelz =B <1 <1 <1 s
pi) Pb  |mg/kefz=1{B 18 18 17 11
AiZA=PN Cr6+ |mg/kgiz=1E e <1 s 4
fiitR As  |mg/kgRZ 2B 3.4 3.9 3.4 2.9
K ER T-Hg |mg/kefz E1E 0.02 0.06 0.03 0.02
TILXILKERIEEY Al-Hg |mg/kgBz £ 1B <0.01 <0.01 <0.01 <0.01
R)EEETTZIL PCB [mg/kefz21E <0.01 <0.01 <0.01 <0.01
K7 H.0 |% 7.1 8.6 49 8.7

STHMTEEXRMRINIRMERINEE - REAMTIERERR

E R N E HxmRIEHA H J I K B ER#TIE

®REIEH Hox=s ==Xiv2 NO. 2 NO. 3 No. 4 No. 5 NO. 1 NO. 2

R1.11.25 R1.11.25 R1.11.25 R1.11.25 R1.11.8 R1.11.8
HRSHL Cd  |mg/kez=1{E <0.1 <0.1 <0.1 <0.1 0.3 0.3
STALEY CN |mg/ketz =1 i 4 <1 < — -
AREIELEY O-P |mg/kekrE{E s 4 s s - -
i) Pb  |mg/kez=1{H 5 5 5 5 - -
AN iZAsPN Cr6+ |mg/kefzE 1B < 1 1 A — -
it As mg/kekz 2 {E 2.1 1.8 15 1.6 0.8 0.5
#KER T-Hg |mg/kgBzE{E 0.09 0.05 0.01 0.02 — -
ZILEILKEEIEEY Al-Hg |mg/kgBz £ 1B <0.01 <0.01 <0.01 <0.01 - -
RUEEETZIL PCB [mg/kegiz2fE <0.01 <0.01 <0.01 <0.01 - -
BB E % 1.3 15 1.9 2.2 - -
JILRIAZHUHHYESES me/kekz = {E <250 <250 <250 <250 — -
fh Cu__ |mg/kelz=1B 20 12 21 20 12 5
Kn H.0 [% 14.0 18.5 16.0 18.3 45.4 36.1




